	PROPOSAL SCHE	DULE			· .
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	ÜNIT PRICE	AMOUNT
209.1000	Water Pollution and Erosion Control	FA	FA	FA	\$100,000.00
312.1000	8-inch Plant Mix Glassphalt Concrete Base Course	700	SY	\$ 176.44	\$ 123,508.W
401.1000	Asphalt Concrete Pavement, Mix No. IV	700	SY	\$ 157.28	\$ 110,096.00
503.1060	Concrete Retaining Wall (including footing)	LS	LS	LS	\$30,984.03"N
604.4570	Adjusting Water Meter Frame and Cover	2	EA	\$ 301.98	\$ 603.96
604.4571	Adjust Gas Manhole Frame and Cover	1	EA	<u>\$_404.84</u>	s 404 84
604.4580	Adjust Water Valve Box	3	EA	\$ 301.98	\$ 905.94
608.0100	4-inch Reinforced Concrete Sidewalk	340	SY	\$ 252.86	\$85,972.40
608.0101	Bituminous Sidewalk	5	SY	\$ 452.53 <sup>K</sup>	\$ 2262.65 KI
609.2720	Curb and Gutter, Type 2DG	467	LF	\$ 86.13	\$40,222.71
609.3060	Curb, Type 2D	853	LF	\$ 71.32	\$ 60,835.96
621.9100	Relocation of Existing Sign	2	EA	\$ 458.93	\$ 917.86
622.0300	Adjust Street Lighting Pullbox	1	EA	\$ 97.52	\$ 97.52
623.0104	Type I-3 Traffic Signal Standard	18	EA	\$ 339.61	\$ 6112.98

CMAQ-0100(66) 8/10/04 P-8

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT
623.0106	Foundation for Type I-3 Signal Standard	18	EA	\$ 395.83	\$_7124.94
623.0405	Pedestrian Push Button with Instruction Sign	77	EA	\$ 344.20	\$ <u>26,503.40</u>
623.0502	Remove Pedestrian Push Button	61	EA	\$ 34.42	\$ 2094.62
623.0122	Remove Pedestrian Push Button Pedestal and Foundation	19	EA	\$ 14.92	\$ 283.48
623.0702	Type B Traffic Signal Pullbox	1	EA	\$ 1072.76	\$ 1072.76
623.0900	Adjust Traffic Signal Pullbox	27	EA	\$ 99.82	\$ 2695.14
623.5000	Traffic Signal Ductline, PVC Schedule 80, 2-inch Conduit Direct Buried	LS	LS	LS	\$ 5707.99
623.5010	Traffic Signal Ductline, PVC Schedule 80, 2 - 2-inch Conduits Direct Buried	LS	LS	LS	\$ 1508.75
623.5122	Traffic Signal Ductline, PVC Schedule 80, 4 - 2-inch Conduits Conc. Encased	LS	LS	LS	\$ 11,760.19
623.5124	Traffic Signal Ductline, PVC Schedule 80, 6 - 2-inch Conduits Conc. Encased	LS	LS	LS	\$ 12,333.85
623.7100	No. 14, 26-Conductor Traffic Control Cable	LS	LS	LS	<b>\$</b> 7543.73
623.7200	No. 14, 2-Conductor Cable	LS	LS	LS	\$ 7285.58
623.7300	No. 14, 4-Conductor Cable	LS	LS	LS	\$ 269-62
623.7400	No. 20, 3-Conductor Opticom Receiver Cable	LS	LS	LS	s4245.14

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT	]
623.7450	No. 16, 3-Conductor Temporary Microwave Cable (Installed in Existing Conduits & Controller)	LS	LS	LS	\$ 12,047.02	K
623.7500	Loop Detector Sensing Unit (6 Ft. x 6 Ft.), Four Loop	20	EA	\$ 1904.58	\$ 38,091.60	
623.7510	Approach-Only Microwave Vehicle Detector	14	EA	\$ 1149.63	16,094.82	
624.9000	Relocate Water Meter	1	EA	\$ 2082.63	\$ 2082.63	
629.1012	Double 4-Inch Pavement Striping (Thermoplastic Extrusion)	LS	LS	LS	\$ 1399.75	Kı
629.1013	4-Inch Pavement Striping (Thermoplastic Extrusion)	LS	LS	LS	\$ 5822.73	KI
629.1017	8-Inch Pavement Striping (Thermoplastic Extrusion)	LS	LS	LS	\$_1376. <b>80</b>	K
629.1022	12-Inch Pavement Striping (Thermoplastic Extrusion)	LS	LS	LS	\$ 3637.05	K
629.1030	Crosswalk Marking (Thermoplastic Extrusion)	105	LANE	KM\$ 946.55	\$ 94,387.75	
629.2030	Type C Pavement Marker	LS	LS	LS	\$ 114.73	
629.2040	Type D Pavement Marker	LS	LS	LS	\$ 22.95	
636.1000	Field Office (Not to Exceed \$32,000)	LS	LS	LS	\$ 32,000.°°	•
636.2000	Project Site Laboratory (Not to Exceed \$22,000)	LS	LS	LS	\$ 29,000.00	
645.0200	Additional Police Officers and/or Additional Traffic Control Devices	FA	FA	FA	\$150,000.00	
650.0100	Curb Ramps, Type A	4	EA	\$_6091-92	\$ 24,367.68	K

CMAQ-0100(66) 8/10/04 P-10

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT
650.0102	Curb Ramps, Type B	15	EA	\$ 7887-63	\$ 118,314.45
650.0104	Curb Ramps, Type C	4	ĒΑ	\$_8000,47	\$ <u>32,00</u> 1.88
650.0106	Curb Ramps, Type D	10	EA	\$ 5599.06	\$ 55,990.60
650.0110	Curb Ramps, Type Combination	13	EA	\$ 7863.16	\$ 102,221.08
650.0200	Detectable Warning on Existing Curb Ramps	FA	FA	FA	\$75,000.00
699.1000	Mobilization (Not to exceed 10% of the sum of all items excluding the bid price of this item, field office, project site laboratory and force account items)	LS	LS	LS	\$ [36,971.37
a.	Sum of All Items				\$ 1,582,303,93
b.	Either Furnish Foreign Steel Not to Exceed Minimal Amount (Fill in '0') or Furnish Foreign Steel in Excess of Minimal Amount (Fill in 25% X a)			*	\$ <u> </u>
C.	Amount for Comparison of Bids (a+b)			•	<b>\$</b> 1,582,303.93
	* All bidders must fill in b and complete c.				
NOTE:	Bidders must complete all unit prices and amounts. Failure to do so may be	grounds for re	ejection of bi	d.	

## PROPOSAL SCHEDULE

The bidder is directed to Subsection 108.01 - Subcontracts.

The bidder's attention is directed to Section 699 – Mobilization for the limitation of the amount bidders are allowed to bid.

If the bid price for any proposal item having a maximum allowable bid indicated therefor in any of the contract documents is in excess of such a maximum amount, the bid price for such proposal item shall be adjusted to reflect the limitation thereon. The comparison of bids to determine the successful bidder and the amount of contract to be awarded shall be determined after such adjustments are made, and such adjustments shall be binding upon the bidder.

The bidder is directed to Subsections 106.12 - Recycling of Waste Glass.

## INSTRUCTIONS TO COMPUTE THE AMOUNT FOR COMPARISON OF BIDS FOR FOREIGN STEEL

Each bidder shall indicate its intention to furnish foreign steel on this project by initialing after the AMOUNT for each of the items the bidder intends to use such foreign steel including lump sum items. A bidder not indicating such usage certifies that the bidder will furnish and use only domestic steel on this project. Also, the bidder shall add an additional 25% to the SUM OF ALL ITEMS if the bid submitted is based on furnishing foreign steel in excess of the minimal use specified in Subsection 106.11 - Domestic Materials.